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procedure TForm1.FindAcroClick(Sender: TObject);

begin

ReadText;

DisplayFound;

end;

//=================================================================

procedure TForm1.LookupClick(Sender: TObject);

begin

LookupAcr;

end;

//=================================================================

Procedure ReadText;

Var

  Email                          : Textfile;

  Data, TestW                    : String;

  WordsperLine,PosS,Len,Lenw,a   : Integer;

  IsAcro,IsAlpha                 : Boolean;

Begin

  Wordsperline := 0;

  Len := 0;

  Lenw := 0;

  PosS := 0;

  AssignFile(Email,'C:\Prelim Data\E-mail.txt');

  reset(Email);

  While not EOF(Email) do

    Begin

      Readln(Email,Data);

      Len := Length(Data);

      //=================================================

      // Count the number Spaces (the is one more word than there are spaces

      For A:= 0 to Len-1 do

        Begin

          if data[A] = ' ' then

            Begin

              Inc(WordsperLine);

            End;

        End;

      //=================================================

      //Test all the words except for the last one

      for a:= 1 to Wordsperline do

        Begin

          posS := pos(' ',data);

          testw := copy(data,0,posS-1);

          delete(data,1,posS);

          testw := rempunct(testw);                      // Remove the punctuation

          isAcro := TestWord(testW);

             if isAcro = true then

              Begin

                AcrosPos[CountPosAcro] := testW;

                CountPosAcro := CountPosAcro +1;

                Setlength(AcrosPos,CountPosAcro+1);

              End;

        End;

      //=================================================

      //Repeat for the last word

          data := rempunct(data);

          isAcro := TestWord(data);

            if isAcro = true then

               Begin

                AcrosPos[CountPosAcro] := data;

                CountPosAcro := CountPosAcro +1;

                Setlength(AcrosPos,CountPosAcro+1);

               End;

    End;

  CloseFile(Email);

End;

//=====================================================================

Procedure DisplayFound();

Var

  a : integer;

Begin

  For a:= 0 to CountPosAcro do

    Begin

      Form1.Memo1.Lines.Add(AcrosPos[a]);

    End;

End;

//====================================================================

Procedure LookUpAcr();

Var

  Acro : Textfile;

  Data : String;

  PosColon : Integer;

Begin

  AssignFile(Acro,'C:\Prelim Data\Acronyms.txt');

  reset(Acro);

  While not EOF(Acro) do

    Begin

      Readln(Acro,Data);

      poscolon := pos(':',data);

      Acros[CountAcro] := copy(data,0,poscolon-1);

      Delete(data,1,poscolon);

      Meaning[CountAcro]:= data;

      CountAcro := CountAcro + 1;

      setlength(Acros,CountAcro +1);

      setlength(Meaning,CountAcro + 1);

    End;

   CloseFile(Acro);

   identify();

End;

//====================================================================

var

  Form1: TForm1;

  LinesofMail  : Array of String;

  AcrosPos     : Array of String;

  Acros        : Array of String;

  Meaning      : Array of String;

  CountLine    : Integer;

  CountAcro    : Integer;

  CountPosAcro : Integer;

implementation

{$R *.dfm}

//=====================================================================

// Identify the found acronyms

//====================================================================

procedure Identify();

Var

 a,b : integer;

 found : Boolean;

 NewAcro : Textfile;

Begin

  assignfile(NewAcro,'C:\Prelim Data\NewAcr.txt');

  Found := false;

  for a:= 0 to Countposacro-1 do

    Begin

      for b := 0 to CountAcro-1 do

        Begin

          if AcrosPos[a] = Acros[b] then

            Begin

              form1.Memo1.Lines.Add(Acros[b] + ' : ' + Meaning[b]);

              Found := true;

            End;

        End;

      If Found = false then

        Begin

          form1.Memo1.Lines.Add(AcrosPos[a] + ' : Unknown');

          If fileexists('C:\Prelim Data\NewAcr.txt') then

            Append(NewAcro)

          Else

            Rewrite(NewAcro);

          Writeln(NewAcro,AcrosPos[a] + ' : Unknown');

          CloseFile(NewAcro);

        End;

      Found := false;

    End;

End;

//=================================================================

// Display the Found acronyms

//=====================================================================

Procedure DisplayFound();

Var

  a : integer;

Begin

  For a:= 0 to CountPosAcro do

    Begin

      Form1.Memo1.Lines.Add(AcrosPos[a]);

    End;

End;

//====================================================================

// Acronyms only consists of Alphabetical Characters.

//====================================================================

Function Alpha(Word : String) : boolean;

Begin

  if(Word[1] = '0') or (Word[1] = '1') or (Word[1] = '2') or (Word[1] = '3')

    or (Word[1] = '4') or (Word[1] = '5') or (Word[1] = '6') or (Word[1] = '7')

    or (Word[1] = '8') or (Word[1] = '9') then

      Alpha := false

  else

   Alpha := true;

End;

//====================================================================

// Remove the punctuation

//=====================================================================

function RemPunct(word : string):String;

Var

  Len,a : Integer;

Begin

   len:=length(word);

     for a:= 1 to len do

       Begin

         if (word[a] = '.') OR (word[a] = ',') OR (word[a] = ':')

          Then

            delete(word,a,1);

       End;

     RemPunct := word;

End;

//====================================================================

// Test a candidate word to determine if it is an acronym

//====================================================================

Function TestWord(CandidateWord:String):Boolean;

Var

   Results : Integer;

   UpTest  : String;

   isAlpha : boolean;

Begin

   Uptest := Uppercase(CandidateWord);

   results := compareStr(Uptest,CandidateWord);

    if (Length(CandidateWord) >= 2) then

      Begin

        if (results = 0) then

          begin

           isAlpha := Alpha(CandidateWord);

             if isAlpha = true then

               TestWord := true

             else

              TestWord := false;

          end

        else

          TestWord := false;

      End

    else

     TestWord := false;

End;

//===================================================================

procedure TForm1.FormCreate(Sender: TObject);

begin

Setlength(LinesofMail,1);

Setlength(Acros,1);

Setlength(AcrosPos,1);

Setlength(Meaning,1);

Countline := 0;

CountAcro := 0;

CountPosAcro := 0;

end;

